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1  (1)~(5) (  ) ~  
(1)  Did you know that Albert Einsteins, the famous physicist, (   ) meat?  

Yes, if my memory serves, he became a strict vegetarian one year before he died.  
 hadn t stopped eating    has been stopped from eating  has stopped eating    
 stopped eating 

 
(2)  I d better call our neighbor to ask her to check the door of our apartment.  

Yes don t have to do that. I remember (  ) it when we left.  
 lock    locking  to be locked    to lock 

 
(3)  Hi, It s me. I m sorry I m late. I m running (  ) the direction of the ticket gate. I ll be with 

you in a minute. 
 in     of  to    within 

 
(4)  I don t think we can come up with a solution to the problem, however long we spend (  ) it.  

 discussing    talking  to discuss   to talk 
 

(5)  You ve got (  ) on your tie. Did you have fried eggs for breakfast? 
 a few eggs     an egg  some egg    some eggs 
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2  (1)~(4) ( )  
(1)   

To every action (always / reaction / equal / is / there / opposed / an). 
( ) 

 
(2)   

The Bible shows (way / the / go / to / to / heaven), ( not / the / go / way / the / heavens). 
(   Letter to the Grand Duchess Christina

 
(3)  

Youth (not / is / time / a / life / of), ( of / is / a / it / mind / state).  
(   ) 

 



  

 
7 2  

 
It is not the strongest of the species that survives, nor the most intelligent that survives.  

 (is / one / the / that / is / change / most / It / adaptable / to). 
 ( ) 
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The amount of ice on Greenland, an autonomous region of Denmark, is equivalent to 11 
percent of the ice volume that covers Antarctica. Greenland loses 300 billion tons of ice every 
year on average, which is reportedly 2.5 times the volume lost in Antarctica. The melting of 
Greenland's ice sheet has been accelerating faster than what had been predicted, producing an 
even greater rise in sea levels. 

 
autonomous: , equivalent: , Antarctica: , accelerating: 
, predicted:  
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cells. (A) The cell is defined as the smallest unit of living things partitioned off by a cell membrane. 
The activity of the cell is controlled by DNA. Just like a computer presents information 

                    (B)                    
within DNA. If a set of your DNA were stretched out, the entire length of Homo sapiens DNA 
would reach 0.9 meters. (C) Two sets of this DNA are kept in a cell nucleus less than 0.005 
millimeters in diameter. If you compare a genome to an encyclopedia composed of a certain 
number of volumes, each volume corresponds to a chromosome, each chapter to a gene and each 
letter to a base. In the human genome, the number of chapters (genes) numbers in the hundred of 
thousands. The number of letters (bases) adds up to 3 billion. 

When a human cell divides, all its DNA, estimated to be as long as 0.9 meters is 
replicated and carried to new cells. The DNA replication is not perfect but extremely accurate. For 
humans, an error occurs at the ratio of one to every 10 billion bases synthesized. If an error occurs 
in genes, mutations may result. If a major mutation takes place in reproduction cells , a child may 
inherit the mutation from a parent. (D) For example, a white colored snake, because of mutated 
genes, is unable to produce the proteins necessary to the appropriate production or transportation 
of pigment. 
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cork: , binary: , Homo sapiens: , 
encyclopedia: , billion: , replicate: , accurate: , reproduction 
cells: , inherit: , pigment:  
 

1 (A) (C) (D)  
 

2 (B)  
 kinds of / information / bases / by / records / combinations / of / four / genetic  
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4 DNA
 

 
5 4

 

引用箇所により略



  

 
7 4  

1 7

 

1 A E  
 

2 A C
 

  
 

3 A E  
 

4  
 

5 37 g Ca(OH)2 D
g D

H=1, C=12, O=16, Ca=40 
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A   

 

1    150  
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 (1) ~ (4) 

 
 
(1) Y  
(2)  T  
(3)  
(4) ATP  
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